
Rectangle Measurements (C)

Calculate the missing measurements for each rectangle.
1
4
.4

m
m

?

P = ?

A = 501.12 mm2

1.

?

51.2 cm

P = ?

A = 974.848 cm2

2.
8.
4
A
U

?

P = ?

A = 210 AU2

3.

?

25.0 AU

P = ?

A = 512.5 AU2

4.

5
.8
8
y
d

?

P = ?

A = 38.1024 yd2

5.

?

28.8 AU

P = ?

A = 483.84 AU2

6.
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Rectangle Measurements (C) Answers

Calculate the missing measurements for each rectangle.
1
4
.4

m
m

34.8 mm

P = 98.4 mm

A = 501.12 mm2

1.

19
.0
4
cm

51.2 cm

P = 140.48 cm

A = 974.848 cm2

2.
8.
4
A
U

25.00 AU

P = 66.8 AU

A = 210 AU2

3.

20
.5
0
A
U

25.0 AU

P = 91 AU

A = 512.5 AU2

4.

5
.8
8
y
d

6.48 yd

P = 24.72 yd

A = 38.1024 yd2

5.

16
.8

A
U

28.8 AU

P = 91.2 AU

A = 483.84 AU2

6.
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